65406030 - EPO 150 CD-ID: Narex CZ 2022_v25r02

08.09.2022 Strana 1z 3



65406030 - EPO 150

CD-ID: Narex CZ 2022_v25r02

Pozice |Polozka Mn. |Nazev Typ Poznamka :oﬁ:;o;ll(';i
1 65406067 Pohyblivy pfivo EPO 150
2 65406068 Navlacka EPO 150
3| 65406069 Sroub EPO 150
4 65406070 Prichytka EPO 150
5 65406071 Spinac EPO 150
6 65406072 Motorova skfin EPO 150
8 65406073 Pruzina EPO 150
9 65406074 Aretacni tlacit EPO 150

10 65406075 Pouzdro motoru EPO 150
1 65406076 Drzak kartace EPO 150
17 65406077 Stator EPO 150
18 65406078 Sroub ST 4x59
12 65406079 Kartace sada EPO 150
13 65406080 Kryt kartace EPO 150
14 65406081 Motorova skfin EPO 150
15| 65406082 Sroub ST 4x20
19 65406083 Vzduchovodna vl EPO 150
20 65406084 Loziskové pouzd 607
21 65406085 Lozisko 6077
22 65406086 Stator EPO 150
23 65406087 Sroub M4x6
25 65406088 Kryt loziska EPO 150
27 65406089 Loziskové viko EPO 150
28 65406090 Podlozka 5
29 65406091 Sroub M5x12
30| 65406092 Sroub M5x18
32 65406093 Motorova skfin EPO 150
33| 65406094 Sroub M5x14
35 65406095 Doraz tahla EPO 150
36| 65406096 Sroub ST4x25
37 65406097 Rukav EPO 150
38| 65406098 Uchyt EPO 150
39 65406099 Doraz EPO 150
40 65406100 Lozisko 608Z
41 65406101 Pojistny krouze d26
42 65406102 Lozisko 6000 Z
43 65406103 Podlozka EPO 150
44 65406104 Ozubené kolo EPO 150
45 65406105 Osy+lozisko EPO 150
48 65406106 Kryt tahla EPO 150
49 65406107 Téahlo komplet EPO 150
60 65406108 Viko EPO 150
61 65406109 Vedeni horni EPO 150
08.09.2022 Strana2z3



65406030 - EPO 150 CD-ID: Narex CZ 2022_v25r02

Pozice |Polozka Mn. |Nazev Typ Poznamka :oﬁ:;o;ll(';i
62 65406110 Motorova skfin EPO 150
63| 65406111 Sroub M4x8
66| 65406112 Sroub M4x18
67 65406113 Kondenzator EPO 150

08.09.2022 Strana3z3



